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double basePrice = anOrder.basePrice();
return (basePrice > 1000);

i

return (anOrder.basePrice() > 1000);
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double basePrice = _quantity * _itemPrice;
if (basePrice > 1000)

return basePrice * 0.95;
else

return basePrice * 0.98;

i

if (basePrice() > 1000)

double BasePrice() {
return _quantity * _itemPrice;

goboodgbood
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if ( (platform.tuUpperCase().indexOf(""MAC™) > -1 ) &&
(browser . toUpperCase() . indexOf("IE") > -1) {

}
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I

final boolean isMacOs = platform.tuUpperCase().indexOf(""MAC'") > -1;
final boolean islEBrowser = browser.toUpperCase().indexOf("IE™) > -1;
if (isMacOs && islEBrowser) { ... }
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double tmp = 2 * (_height * _width);
System.out.printin(tmp);
tmp = _height * _width;
System.out.printIn(tmp);

&

final double perimeter 2 * (_height * _width);
System.out.printIn(perimeter);

final double area = _height * _width;
System.out.printin(area);
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class Order...
double hoge(){ .-- }
double price() {
double primaryBasePrice;
double secondaryBasePrice;
double tertiaryBasePrice;
/0000 *

priﬁaryBasePrice * hoge();

}

i

class Order...
double price() {
return new PriceCaluculator(this,
primaryBasePrice,
secondaryBasePrice,
tertiaryBasePrice
) ).compute();

class PriceCaluculator...
private Order order;
private double primaryBasePrice;



private double secondaryBasePrice;
private double tertiaryBasePrice;
public PriceCaluculator(Order order,
double primaryBasePrice,
double secondaryBasePrice,
double tertiaryBasePrice ) {
this.order = order;
this.primaryBasePrice
this.secondaryBasePrice
this.tertiaryBasePrice

primaryBasePrice;
secondaryBasePrice;
tertiaryBasePrice;

}
public double compute() {
priﬁaryBasePrice * order.hoge(); /7 DO00O0O0OODOOCOOOOO *

3
}
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Client

Person Department + getDepartment()

K =X h

+ getDepartment() + gethianagen) H,E.r
Department

+ getanagen)
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Data newStart = new Date(previouskEnd.getYear(),

previouskEnd.getMonth(),

previousknd.getDate() + 1);
Date newStart = nextDay(previousknd);
private static Date nextDay(Date arg) {
return new Date(arg.getYear(), arg.getMonth(), arg.getDate() + 1);
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Diate

Clienit |;’} zr

+ nexDay(Date) : Date MiDate

+ nexdDay) | Dale
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private int _low, _high;
boolean includes(int arg) {
return arg >= _low && arg <= _high;

&

private int _low, high;
boolean includes(int arg) {
return arg >= getlLow() && arg <= getHigh(Q);

}
int getlow() { return _low; }
int getHigh() { return _high; }
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Order

- tustomer : String

I

Order

Customer

A - name - String
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/*000o0g */

class Customer {
public Customer(String name) { _name = name; }
pulbic String getName() { return _name; }
private final String _name;

}
/00000 */
class Order...

public Order(String customerName) {
_customer = new Customer(customerName);

}
public void setCustomer(String customerName) {
_customer = new Customer(custmerName);

}
public String getCustomerName() {
return _customer.getName();

private Customer _customer;

}
/*0000000o0g */
private static int numberOfOrdersFor(Collection orders, String customer) {
int result = 0;
Iterator iter = orders.iterator();
while (iter.hasNext()) {
Order each = (Order) iter.next();
if (each.getCustomerName().equals(customer)) result++;

return result;

}

&

class Customer. ..
private Customer(String name) { _name = name; }
static void loadCustomers() {
new Customer(*'Lemon Car Hire").store();

private void store() {
_instandces.put(this.getName(), this);

}
public static Customer getNamed(String name) {
return (Customer) _instances.get(name);

private static Dictionary _instances = new Hashtable();
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gopboooboogd

100000000000 boo0obobo0obooobobooboonbobo
200000000000

gobooboooboobooooon

lLob0oobboobouoobobooboboobooonboo
20000000000 0Db0Db0ODbO0oDbDO0ODbODbDUODbDODODODODOD

String[] row = new String[3];
row[0] = "Liverpool";
row[1] = "15";



I

Performance row new Performance();
row.setName("'Liverpool™);
row.setWins('15");
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java.util.Collections.unmodifiableSet

Person

+ getCoursel) ; Set
+ setCourses(sourses - Set)  void

&
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Person

+ getCourse() - Unmodifiable Set
+ addCoursedcourse ;. Course) | void
+ removeCourseltourse T Course) D void
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Person
-0 int
-Aint
-B:int
- AB ! inl
= hloodGroup ;int
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Person

'

BloodGroup

= 3 BloodGroup
- A BloodGroup
- B BloodGroup
- AE ; BloodGroup
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Employee

- EMNGINEER : int
- SALESMAN @ int
= fypee ;int

I

Emplovee

Engineer Salesman

State/Strategy OO0 0 DO O0O0O00OO0DOOODO
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Employee

- ENGIMEER ; int
- SALESMARN ©int
= type ;int

&

Employves - | EmployeeType

1 |
I I

Engineer Salesman
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if (date.before(SUMMER_START) || date.after(SUMMER_END))
charge = quantity * _winterRate + _winterServiceCharge;
else charge = quantity * _summerRate;

I

if (notSummer(date))
charge = winterCharge(quantity);
else charge = summerCharge(quantity);
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double disabilityAmount() {

if (_seniority < 2) return 0;
it (_monthisDisabled > 12) return O;
if (_isPartTime) return 0;

&

double disabilityAmount() {
if (isNotEligibleForDisablity()) return 0;
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it (isSpecialDeal()) {
total = price * 0.95;
send();

} else {
total = price * 0.98;
send();

&

if (isSpecialDeal()) {
total = price * 0.95;
} else {
total = price * 0.98;

}
send();

goooooboood

1.000000000000DO0000O0LOb0000O0D 100o0o0boo
20000 break 0 return0 0 O

11



goboobooobbooooboooboon

ilLO000b0b0b0boboboboboboobobob
20000000000000DOO00(O0DOO0bOO0O0OOoOoDLDOoO0OoOo0oDoOOD
oooooooboog)yooo

double getPayAmount() {
double result;
if (LisDead) result = deadAmount();
else {
ifl(_;sSeparated) result = separatedAmount();
esle
if (_isRetired) result = retiredAmount();
else result = normalPayAmount();

return result;

}

&

double getPayAmount() {
if (_isDead) return deadAmount();
if (_isSeparated) return separatedAmount();
if (_isRetired) return retiredAmount();
return normalPayAmount();

}
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double getSpeed() {
switch (_type) {
case EUROPEAN:
return getBaseSpeed();
case AFRICAN:
return getBaseSpeed() - getlLoadFactor() * _numberOfCoconuts;
case NORWEGIAN_BLUE:
return (_isNailed)?0:getBaseSpeed(_voltage);

}
throw new RuntimeException(" 0000 O0OOO0O ");

I
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+ getSpeed]) | double

FaY
] |

European African NorwegianBlue

+ getSpeed]) ; double + getSpeed() : double + getSpeed) ; double
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if (customer == null) plan = billingPaln.basic();
else plan = customer.getPlan();

&

Customer

+ getPlan(

¥

HullCustomer

+ getPland

goood
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double getExpenseLimit() {
/0000000000000 0000oooooono *
return (_expenseLimit !'= NULL_EXPENSE) ?
_expenseLimit:
_primaryProject.getMemberExpenseLimt();

}

i

double getExpenseLimit() {
Assert.isTrue(_expenseLimit !'= NULLEXPENSE || _primaryProject != null);
return (_expenseLimit != NULL_EXPENSE) ?
_expenseLimit:
) _primaryProject.getMemberExpenseLimt();
}

000000000

13



goboodgobood

1L.00000000b00b00b00bO0bO0b0b0OnDo
2000000000D00DO

gooog

lL00000000b000obobooboobobooboobobooon
2000000000000000

goood

1L000000000000b000b0obo00b000oon
20000000

goboooogoboo

liggoooobooboobboobooobbooboobbon
20000000000D00D 200000D0ODODODODOD

Customer

+ getTotalQutstandinpAndSetReadyF orSummaries()

&

Customer

+ getTotalOutstanding )
+ setReadyForSummaries()
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Employee

+ fivePercentRaise)
+fenPercentRaised

&
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Employee

+ raise(percentage)
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void setValue (String name, int value) {
if (name.equals("height™))
_heigth = vaue;
else if (name.equals("width™))
_width = value
else
) Assert.shouldNeverReacheHere();

void setHeight (int arg) {
_height = arg;

}

void setWidth (int arg) {
_width = arg;

}
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int low = daysTempRange().getLow();
int high = daysTempRange().getHigh();
withinPlan = plan.withinRange(low, high);

i

withinPlan = plan.withinRange(daysTempRange());
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int basePrice = _quantity * _itemPrice;
discountLevel = getDiscountLevel();
double finalPrice = discountedPrice(basePrice, discountLevel);

I

int basePrice = _quantity * _itemPrice;
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double finalPrice = discountedPrice(basePrice);
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Customer

+ amountinvoicedinistant : Date, end : Date)
+ amouniReceivedinstart : Date, end ; Date)
+ amounCverduein{stan : Date, end : Date)

&

Custorner

+ amountinvoicedin{range : DateRange)
+ amountReceivadinirange | DateRange)
+ amountOverdueinistart © Date, end ; Date)
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Employee (int type) {
_type = type;
}

&

static Employee create(int type) {
return new Employee(type);
}
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Object lastReading() {
return readings.lastElements();

&

Reading lastReading() {
return (Reading) readlings.lastElement();
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double getValueForPeriod(int periodNumber) {
try {
return _values[periodNumber];
} catch (ArraylndexOutOfBoundsException e) {
return 0;

}
3

&

double getValueForPeriod(int periodNumber) {
if (periodNumber >= _values.length) return O;
return _values[periodNumber];
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Jobitem

+ gefTotalPrice])
+ getlinitPriced
+ getEmployeed
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Johitem

+ getTotalPrice)
+ getlinitPriced

T

Labaorktem

+ getUinitPriced
+ getEmployes()
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Site
double base = _units* _rate *0.5; &Y
i';i. double tax = base * Site. TAX_RATE * 0.2,
: return base + tay;
LifelineSite /
ResidentialSite e p double base = _units " _rate; 5
QBB SIEAROLITLY double tax = base * Site TAX_RATE;
+ gelgillablesmount) return base + tax

I

Site

refurn getBasefmount)) + getTadmount(; Ij

+ getBillamount() —
+ getBazeAmount()
+ gefTawAmount()

aY

ResidentialSite

LifeLineSite

+ getBasefAmountd
+ gefTaxAmount()

+ getBaseAmount(
+ gefTaxdmountd
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